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NITROGEN PUMP

. 4860 Width(mm)............. 2440 Height(mm)..........: 2680
: 13500
... Frame with forklift channels and lifting slings. DNV 2.7-1

. J5288

Area of use / certification

Onshore/offshore . Offshore
Standard.............cccceevevveeiveennnnn. Eexde 1A T3, Zone 2, 80dBa

Flow / Pressure / Volume

Q max (SCF/H) : 180000
P-max (bar).......ccccoevevciinincenes. 690
Connections
Inlet connection..............c.cccceeeees. 1 €a. Acme 150
Outlet connection..............c..........:. 1 €a. 2" Weco Fig. 1502
Pump / Engine
Triplex pump.........cccoeceeeevvveennnee...:. Hydrarig NP200 1,3" x 1,625"
Boost pump.......cccceeviiiiiiieeeeeeel. Weston 1,5" x 2,5" x 6"
Cold-ends.... ... Weston 1,625"
Vaporizer..... ... Hydrarig Pot type IPP 00001
Motor..........ccceeeeeeeeeeeeeeeee.......... Detroit diesel 8V-92TA, 480 HP, max 2100 revolutions, II1A T3 Zone Il
Motor (serial no.).........cccceceeeueenne.t. 8VF134765
Filter LIN suction side... ... Washable strainer
Fire /Gas central..................c........... MES Type 20-009, s.nr MES2000374-001
112 (1) G Exdb eb [ia Ga] IIC T4 Gb
2460 Presafe 20 ATEX 82273 X
230vac, max 16A, 50/60Hz
Signal to platform at........................: Fire and Gas alarm
Air/Diesel shut down at...................:. - Over racing of motor.
- High temperature on exhaust.
- High temperature on cooling liquid.
- Low oil pressure on motor.
- Low air pressure.
- Fire alarm.
- Shut down and alert at 10 % LEL CH4
- Emergency shut-down.
- Emergency shut-down from control room.
- Overpressure nitrogen.
Power supply
Fuse (qty)....ccocervveenniiienieiieeneel. 1 Fuse (A)..... 16
El.Powert......cccccocvvininiincicene. 230V 1 phase (Hz).............. 50/60 (KW).ooiein (A)eeveires 16

(Utility)

Flow / Pressure / Volume

Diesel Tank Volume (ltr).................:
Diesel consumption (ltr/hr)
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Unit no. NP-07

Additional information

Equipment / Functions..................... - Fixed fire extinguiser PEFS Foam.

- Fire extinguisher 12kg.
- OPS connection.
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